

15th FOURSOME LEAGUE
 EVERY TUESDAY @ 8.15pm EXCEPT EVE & PUBLIC HOLIDAYS
***** LEAGUE SCHEDULE *****

FASTING MONTH	Week	Date	LANE ASSIGNMENT													AGAINST BYE TEAM
			1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22			
			ROUND 1													
	1	06/01/26	1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22	23		
	2	13/01/26	7 - 6	5 - 8	3 - 2	1 - 4	15 - 14	13 - 16	11 - 10	9 - 12	23 - 22	19 - 18	17 - 20	21		
	3	20/01/26	3 - 8	1 - 6	7 - 4	5 - 2	11 - 16	9 - 14	15 - 12	13 - 10	17 - 22	23 - 20	21 - 18	19		
	4	27/01/26	5 - 4	7 - 2	1 - 8	3 - 6	13 - 12	15 - 10	9 - 16	11 - 14	21 - 20	23 - 18	19 - 22	17		
	5	03/02/26	18 - 14	20 - 16	10 - 22	23 - 3	17 - 5	7 - 19	21 - 1	8 - 11	2 - 13	4 - 15	6 - 9	12		
	6	10/02/26	10 - 18	20 - 12	22 - 14	17 - 1	19 - 3	5 - 21	23 - 7	2 - 9	4 - 11	6 - 13	8 - 15	16		
		17/02/26	CHINESE NEW YEAR DAY 1													
8.30pm	7	24/02/26	22 - 16	12 - 18	20 - 14	7 - 21	1 - 23	17 - 3	5 - 19	15 - 6	9 - 8	11 - 2	13 - 4	10		
8.30pm	8	03/03/26	9 - 1	11 - 3	13 - 5	15 - 7	2 - 18	4 - 20	6 - 22	10 - 17	12 - 19	14 - 21	16 - 23	8		
8.30pm	9	10/03/26	13 - 7	15 - 5	9 - 3	11 - 1	8 - 22	4 - 18	2 - 20	14 - 23	16 - 21	10 - 19	12 - 17	6		
8.30pm	10	17/03/26	15 - 3	13 - 1	11 - 7	9 - 5	2 - 22	8 - 20	6 - 18	16 - 19	14 - 17	12 - 23	10 - 21	4		
	11	24/03/26	11 - 5	9 - 7	15 - 1	13 - 3	6 - 20	8 - 18	4 - 22	12 - 21	10 - 23	16 - 17	14 - 19	2		
	12	31/03/26	18 - 20	14 - 16	12 - 10	19 - 17	5 - 7	21 - 23	1 - 3	4 - 2	13 - 15	8 - 6	9 - 11	22		
	13	07/04/26	12 - 22	10 - 20	18 - 16	5 - 23	3 - 21	19 - 1	7 - 17	13 - 8	11 - 6	9 - 4	15 - 2	14		
	14	14/04/26	2 - 17	4 - 19	6 - 21	8 - 23	18 - 9	20 - 11	22 - 13	1 - 10	3 - 12	5 - 14	7 - 16	15		
	15	21/04/26	6 - 23	8 - 21	2 - 19	4 - 17	22 - 15	18 - 11	20 - 9	7 - 14	5 - 16	3 - 10	1 - 12	13		
	16	28/04/26	8 - 19	6 - 17	4 - 23	2 - 21	22 - 9	20 - 15	18 - 13	3 - 16	1 - 14	7 - 12	5 - 10	11		
	17	05/05/26	4 - 21	2 - 23	8 - 17	6 - 19	20 - 13	18 - 15	22 - 11	5 - 12	7 - 10	1 - 16	3 - 14	9		
	18	12/05/26	20 - 22	16 - 10	14 - 12	21 - 19	7 - 1	23 - 17	3 - 5	6 - 4	15 - 9	2 - 8	11 - 13	18		
	19	19/05/26	16 - 12	14 - 10	22 - 18	3 - 7	23 - 19	1 - 5	17 - 21	11 - 15	8 - 4	13 - 9	2 - 6	20		
	20	26/05/26	17 - 9	19 - 11	21 - 13	23 - 15	10 - 2	12 - 4	14 - 6	16 - 8	18 - 1	20 - 3	22 - 5	7		
	21	02/06/26	23 - 13	21 - 15	19 - 9	17 - 11	14 - 8	16 - 6	10 - 4	12 - 2	22 - 7	18 - 3	20 - 1	5		
	22	09/06/26	19 - 15	17 - 13	23 - 11	21 - 9	16 - 4	14 - 2	12 - 8	10 - 6	22 - 1	20 - 7	18 - 5	3		
	23	16/06/26	21 - 11	23 - 9	17 - 15	19 - 13	12 - 6	10 - 8	16 - 2	14 - 4	20 - 5	18 - 7	22 - 3	1		
			ROUND 2													
	24	23/06/26	1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22	23		
	25	30/06/26	7 - 6	5 - 8	3 - 2	1 - 4	15 - 14	13 - 16	11 - 10	9 - 12	23 - 22	19 - 18	17 - 20	21		
	26	07/07/26	3 - 8	1 - 6	7 - 4	5 - 2	11 - 16	9 - 14	15 - 12	13 - 10	17 - 22	23 - 20	21 - 18	19		
	27	14/07/26	5 - 4	7 - 2	1 - 8	3 - 6	13 - 12	15 - 10	9 - 16	11 - 14	21 - 20	23 - 18	19 - 22	17		
	28	21/07/26	18 - 14	20 - 16	10 - 22	23 - 3	17 - 5	7 - 19	21 - 1	8 - 11	2 - 13	4 - 15	6 - 9	12		
	29	28/07/26	10 - 18	20 - 12	22 - 14	17 - 1	19 - 3	5 - 21	23 - 7	2 - 9	4 - 11	6 - 13	8 - 15	16		
	30	04/08/26	22 - 16	12 - 18	20 - 14	7 - 21	1 - 23	17 - 3	5 - 19	15 - 6	9 - 8	11 - 2	13 - 4	10		
	31	11/08/26	9 - 1	11 - 3	13 - 5	15 - 7	2 - 18	4 - 20	6 - 22	10 - 17	12 - 19	14 - 21	16 - 23	8		
	32	18/08/26	13 - 7	15 - 5	9 - 3	11 - 1	8 - 22	4 - 18	2 - 20	14 - 23	16 - 21	10 - 19	12 - 17	6		
	33	25/08/26	15 - 3	13 - 1	11 - 7	9 - 5	2 - 22	8 - 20	6 - 18	16 - 19	14 - 17	12 - 23	10 - 21	4		
	34	01/09/26	11 - 5	9 - 7	15 - 1	13 - 3	6 - 20	8 - 18	4 - 22	12 - 21	10 - 23	16 - 17	14 - 19	2		
	35	08/09/26	18 - 20	14 - 16	12 - 10	19 - 17	5 - 7	21 - 23	1 - 3	4 - 2	13 - 15	8 - 6	9 - 11	22		
	36	15/09/26	12 - 22	10 - 20	18 - 16	5 - 23	3 - 21	19 - 1	7 - 17	13 - 8	11 - 6	9 - 4	15 - 2	14		
	37	22/09/26	2 - 17	4 - 19	6 - 21	8 - 23	18 - 9	20 - 11	22 - 13	1 - 10	3 - 12	5 - 14	7 - 16	15		
	38	29/09/26	6 - 23	8 - 21	2 - 19	4 - 17	22 - 15	18 - 11	20 - 9	7 - 14	5 - 16	3 - 10	1 - 12	13		
	39	06/10/26	8 - 19	6 - 17	4 - 23	2 - 21	22 - 9	20 - 15	18 - 13	3 - 16	1 - 14	7 - 12	5 - 10	11		
	40	13/10/26	4 - 21	2 - 23	8 - 17	6 - 19	20 - 13	18 - 15	22 - 11	5 - 12	7 - 10	1 - 16	3 - 14	9		
	41	20/10/26	20 - 22	16 - 10	14 - 12	21 - 19	7 - 1	23 - 17	3 - 5	6 - 4	15 - 9	2 - 8	11 - 13	18		
	42	27/10/26	16 - 12	14 - 10	22 - 18	3 - 7	23 - 19	1 - 5	17 - 21	11 - 15	8 - 4	13 - 9	2 - 6	20		
	43	03/11/26	17 - 9	19 - 11	21 - 13	23 - 15	10 - 2	12 - 4	14 - 6	16 - 8	18 - 1	20 - 3	22 - 5	7		
	44	10/11/26	23 - 13	21 - 15	19 - 9	17 - 11	14 - 8	16 - 6	10 - 4	12 - 2	22 - 7	18 - 3	20 - 1	5		
	45	17/11/26	19 - 15	17 - 13	23 - 11	21 - 9	16 - 4	14 - 2	12 - 8	10 - 6	22 - 1	20 - 7	18 - 5	3		
	46	24/11/26	21 - 11	23 - 9	17 - 15	19 - 13	12 - 6	10 - 8	16 - 2	14 - 4	20 - 5	18 - 7	22 - 3	1		
		01/12/26	MASTER'S EVENT : CHECK IN : 7.45pm ROLL OFF : 8.30pm													
		08/12/26	NEW SEASON - 16th FOURSOME LEAGUE													

	TEAM	CAPTAIN
1	TEAM A*	ALEX HEIZAN
2	COOL STRIKE	JEFFREY
3	ROMALEOS	MUNIRA MAHBOB
4	NOBODY RULES NOBODY	NESS
5	15 FIVE	JACKSON YEO
6	REVIVAL TEAM	ZARRY
7	ASSASSINS	HANAFI CASMAN
8	E'CLIPSE	NINA
9	PRESTIGE	AION HMTAIB
10	4 U 2 BOWL	YUSOFF
11	STORM RIDERS	HASSAN HUSSEIN
12	KNIGHTS	DORAY

	TEAM	CAPTAIN
13	BLACK KNIGHT	BERNARD SEE
14	TEAM F&S	MUHD NIZAM
15	REVOLUTION	RAY SOH
16	MISFITS STRIKERS	JENNIFER
17	ALL FOR ONE	EDDIE YAP
18	CONQUERORS	ALVIN SEOW
19	ROLLING 99	ANDRE LEE
20	C.C.R.T	SHAFIE
21	CLASSIC BOWLERS	MUHD JURAIMI
22	B.I.B	MUHD LATIF
23	X-FREEDOM	FAIZ HARON
24	BYE TEAM	BYE TEAM

15th FOURSOME LEAGUE WESTWOOD BOWL Week 4

15 FIVE # 5

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
1	BASIL	M	0	180	212	192	584	180	0	212	1	192	1	584	1	3
	DANI AQIL	M	0	221	215	195	631	221	1	215	1	195	1	631	1	4
	JULIUS	M	0	182	220	178	580	182	1	220	1	178	1	580	1	4
	RAYMOND SOH	M	0	195	197	233	625	195	1	197	0	233	1	625	1	3
Scratch Total				778	844	798	2420									
Handicap				0	0	0	0									
Total				778	844	798	2420	778	1	844	1	798	1	2420	1	18

Point Won	18
Point Lost	2

NOBODY RULES NOBODY # 4

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
2	PRAKASH	M	0	203	173	156	532	203	1	173	0	156	0	532	0	1
	ANNA	F	35	168	169	155	492	203	0	204	0	190	0	597	0	0
	ALFRED	M	23	130	177	124	431	153	0	200	0	147	0	500	0	0
	RAVIN	M	0	176	202	224	602	176	0	202	1	224	0	602	0	1
Scratch Total				677	721	659	2057									
Handicap				58	58	58	174									
Total				735	779	717	2231	735	0	779	0	717	0	2231	0	2

Point Won	2
Point Lost	18

ASSASSINS # 7

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
3	IAN	M	0	178	173	168	519	178	1	173	1	168	1	519	1	4
	AMY	M	0	190	193	137	520	190	0	193	1	137	0	520	0	1
	BAKAR	M	21	190	161	140	491	211	1	182	0	161	0	554	1	2
	IRFAN	M	15	215	203	279	697	230	0	218	1	294	1	742	1	3
Scratch Total				773	730	724	2227									
Handicap				36	36	36	108									
Total				809	766	760	2335	809	1	766	1	760	1	2335	1	14

Point Won	14
Point Lost	6

COOL STRIKE # 2

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
4	ESA	M	0	143	126	136	405	143	0	126	0	136	0	405	0	0
	ZIL	M	21	218	158	193	569	239	1	179	0	214	1	632	1	3
	HARON	M	10	134	190	179	503	144	0	200	1	189	1	533	0	2
	AJ	M	5	226	158	182	566	231	1	163	0	187	0	581	0	1
Scratch Total				721	632	690	2043									
Handicap				36	36	36	108									
Total				757	668	726	2151	757	0	668	0	726	0	2151	0	6

Point Won	6
Point Lost	14

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 4**

TEAM A3 # 1

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
5	DOMINIC	M	0	133	165	153	451	133	0	165	1	153	0	451	0	1
	KELSON	M	0	173	139	139	451	173	1	139	0	139	0	451	1	2
	RAINEY	M	21	146	172	153	471	167	0	193	1	174	0	534	0	1
	SAIYID	M	5	157	140	124	421	162	1	145	0	129	0	436	0	1
Scratch Total				609	616	569	1794									
Handicap				26	26	26	78									
Total				635	642	595	1872	635	1	642	0	595	0	1872	0	6

Point Won	6
Point Lost	14

E'CLIPSE # 8

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
6	AZIZAH	F	15	171	131	140	442	186	1	146	0	155	1	487	1	3
	GHANI	M	0	121	158	144	423	121	0	158	1	144	1	423	0	2
	MCKEAN	M	13	162	163	223	548	175	1	176	0	236	1	587	1	3
	IZZAN	M	11	125	183	158	466	136	0	194	1	169	1	499	1	3
Scratch Total				579	635	665	1879									
Handicap				39	39	39	117									
Total				618	674	704	1996	618	0	674	1	704	1	1996	1	14

Point Won	14
Point Lost	6

ROMALEOS # 3

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
7	HALIM	M	0	196	179	246	621	196	1	179	0	246	1	621	1	3
	RIDDUAN	M	10	130	233	222	585	140	0	243	1	232	0	615	0	1
	NORHAIZUL	M	1	154	151	155	460	155	0	152	0	156	0	463	0	0
	FADZREEN	M	0	186	164	189	539	186	1	164	0	189	1	539	1	3
Scratch Total				666	727	812	2205									
Handicap				11	11	11	33									
Total				677	738	823	2238	677	0	738	0	823	1	2238	0	8

Point Won	8
Point Lost	12

REVIVAL TEAM # 6

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
8	MAMES	M	25	169	197	165	531	194	0	222	1	190	0	606	0	1
	AZMIL	M	16	178	224	237	639	194	1	240	0	253	1	687	1	3
	SANI	M	12	197	193	153	543	209	1	205	1	165	1	579	1	4
	RIDUWAN	M	4	177	181	128	486	181	0	185	1	132	0	498	0	1
Scratch Total				721	795	683	2199									
Handicap				57	57	57	171									
Total				778	852	740	2370	778	1	852	1	740	0	2370	1	12

Point Won	12
Point Lost	8

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 4**

BLACK KNIGHT # 13

Lane No	Bowler's Name	SEX	H'cap	G1	G2	185	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
9	BERNARD SEE	M	0	200	159	192	551	200	0	159	0	192	1	551	0	1
	HARRY KHOO	M	13	180	168	191	539	193	1	181	0	204	0	578	0.5	1.5
	STANLEY TAN	M	9	202	178	212	592	211	1	187	0	221	1	619	1	3
	RAYMOND GOH	M	1	153	255	207	615	154	1	256	1	208	1	618	1	4
Scratch Total				735	760	802	2297									
Handicap				23	23	23	69									
Total				758	783	825	2366	758	1	783	1	825	1	2366	1	13.5

Point Won	13.5
Point Lost	6.5

KNIGHTS # 12

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
10	ABDULLAH	M	0	228	192	181	601	228	1	192	1	181	0	601	1	3
	RAVIKUMAR	M	18	168	166	190	524	186	0	184	1	208	1	578	0.5	2.5
	VIJAYACHELVAN	M	18	143	173	193	509	161	0	191	1	211	0	563	0	1
	SELVAKUMARAN	M	2	122	169	186	477	124	0	171	0	188	0	483	0	0
Scratch Total				661	700	750	2111									
Handicap				38	38	38	114									
Total				699	738	788	2225	699	0	738	0	788	0	2225	0	6.5

Point Won	6.5
Point Lost	13.5

REVOLUTION # 15

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
11	ELSEN	M	0	136	157	94	387	136	0	157	0	94	0	387	0	0
	SOH WEE SONG	M	18	136	122	189	447	154	0	140	0	207	1	501	0	1
	HAFIZ	M	10	198	171	235	604	208	0	181	1	245	1	634	1	3
	MJ	M	3	176	150	160	486	179	0	153	0	163	0	495	0	0
Scratch Total				646	600	678	1924									
Handicap				31	31	31	93									
Total				677	631	709	2017	677	0	631	0	709	0	2017	0	4

Point Won	4
Point Lost	16

4U2 BOWL # 10

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
12	ANIQ	M	0	221	208	189	618	221	1	208	1	189	1	618	1	4
	MOHD IMRAN	M	0	202	209	166	577	202	1	209	1	166	0	577	1	3
	HAFIZH	M	0	243	175	174	592	243	1	175	0	174	0	592	0	1
	HAIRON	M	0	219	194	208	621	219	1	194	1	208	1	621	1	4
Scratch Total				885	786	737	2408									
Handicap				0	0	0	0									
Total				885	786	737	2408	885	1	786	1	737	1	2408	1	16

Point Won	16
Point Lost	4

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 4**

PRESTIGE # 9

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
13	MEI POH	F	15	165	190	132	487	180	0	205	0	147	0	532	0	0
	DESMOND LEE	M	0	153	119	133	405	153	1	119	0	133	0	405	0	1
	JOCELYN GOH	F	11	188	180	157	525	199	1	191	0	168	0	558	1	2
	JASON NG	M	9	236	161	213	610	245	1	170	0	222	1	637	1	3
Scratch Total				742	650	635	2027									
Handicap				35	35	35	105									
Total				777	685	670	2132	777	1	685	0	670	0	2132	0	7

Point Won	7
Point Lost	13

MISFITS STRIKERS # 16

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
14	ANNE	F	15	167	205	208	580	182	1	220	1	223	1	625	1	4
	SURADI	M	0	148	133	188	469	148	0	133	1	188	1	469	1	3
	JENNIFER	F	16	146	176	180	502	162	0	192	1	196	1	550	0	2
	ROHEZAN	M	2	201	175	133	509	203	0	177	1	135	0	515	0	1
Scratch Total				662	689	709	2060									
Handicap				33	33	33	99									
Total				695	722	742	2159	695	0	722	1	742	1	2159	1	13

Point Won	13
Point Lost	7

STORM RIDERS # 11

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
15	KC	M	0	139	184	145	468	139	0	184	1	145	0	468	0	1
	KELVIN	M	0	143	164	212	519	143	0	164	0	212	0	519	0	0
	HAS	M	23	182	144	176	502	205	1	167	0	199	0.5	571	1	2.5
	KIKI	M	7	182	191	175	548	189	0	198	0	182	0	569	0	0
Scratch Total				646	683	708	2037									
Handicap				30	30	30	90									
Total				676	713	738	2127	676	0	713	0	738	0	2127	0	3.5

Point Won	3.5
Point Lost	16.5

TEAM F&S # 14

1

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
16	NURUL	F	35	134	130	168	432	169	1	165	0	203	1	537	1	3
	TAHIR	M	16	204	187	210	601	220	1	203	1	226	1	649	1	4
	OSMAN TIK	M	5	148	201	194	543	153	0	206	1	199	0.5	558	0	1.5
	CHANDRAN	M	3	205	228	215	648	208	1	231	1	218	1	657	1	4
Scratch Total				691	746	787	2224									
Handicap				59	59	59	177									
Total				750	805	846	2401	750	1	805	1	846	1	2401	1	16.5

Point Won	16.5
Point Lost	3.5

15th FOURSOME LEAGUE WESTWOOD BOWL Week 4

CLASSIC BOWLERS # 21

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
17	IZZAH	F	15	179	202	139	520	194	1	217	1	154	0	565	1	3
	HUZAINI	M	0	197	121	137	455	197	0	121	0	137	0	455	0	0
	REMY	M	0	164	178	167	509	164	0	178	0	167	0	509	0	0
	AFFTAAL	M	0	217	226	225	668	217	0	226	1	225	1	668	1	3
Scratch Total				757	727	668	2152									
Handicap				15	15	15	45									
Total				772	742	683	2197	772	0	742	1	683	0	2197	0	7

Point Won	7
Point Lost	13

C.C.R.T # 20

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
18	MUHAMMAD	M	18	160	134	170	464	178	0	152	0	188	1	518	0	1
	ISA	M	9	201	172	213	586	210	1	181	1	222	1	613	1	4
	HASHIM	M	7	196	224	163	583	203	1	231	1	170	1	604	1	4
	SHAFIE	M	0	246	165	201	612	246	1	165	0	201	0	612	0	1
Scratch Total				803	695	747	2245									
Handicap				34	34	34	102									
Total				837	729	781	2347	837	1	729	0	781	1	2347	1	13

Point Won	13
Point Lost	7

X-FREEDOM # 23

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
19	FAHIM	M	0	156	176	168	500	156	0	176	0	168	0	500	0	0
	AIEM	M	25	158	181	148	487	183	0	206	1	173	1	562	1	3
	FIAN	M	24	189	192	189	570	213	1	216	1	213	1	642	1	4
	FAIZ	M	19	155	141	136	432	174	0	160	0	155	0	489	0	0
Scratch Total				658	690	641	1989									
Handicap				68	68	68	204									
Total				726	758	709	2193	726	0	758	1	709	0	2193	0	8

Point Won	8
Point Lost	12

CONQUERORS # 18

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
20	LORRAINE	F	15	192	176	165	533	207	1	191	1	180	1	578	1	4
	ALVIN HO	M	0	211	149	139	499	211	1	149	0	139	0	499	0	1
	PETER	M	15	181	134	192	507	196	0	149	0	207	0	552	0	0
	ALVIN S	M	2	181	222	237	640	183	1	224	1	239	1	646	1	4
Scratch Total				765	681	733	2179									
Handicap				32	32	32	96									
Total				797	713	765	2275	797	1	713	0	765	1	2275	1	12

Point Won	12
Point Lost	8

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 4**

ROLLING 99 # 19

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
21	GABRIEL GOH	M	0	162	193	204	559	162	0	193	0	204	1	559	0	1
	EFFENDY	M	0	168	138	161	467	168	0	138	0	161	0	467	0	0
	KK LEE	M	21	148	184	133	465	169	0	205	1	154	1	528	1	3
	JASON HON	M	10	155	182	140	477	165	0	192	1	150	0	507	0	1
Scratch Total				633	697	638	1968									
Handicap				31	31	31	93									
Total				664	728	669	2061	664	0	728	1	669	0	2061	0	6

Point Won	6
Point Lost	14

B.I.B # 22

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
22	SUFI TRESNO	M	0	190	215	193	598	190	1	215	1	193	0	598	1	3
	SUTRESNOH	M	0	208	141	198	547	208	1	141	1	198	1	547	1	4
	SHI HONG	M	18	160	142	133	435	178	1	160	0	151	0	489	0	1
	CRIS	M	13	184	175	246	605	197	1	188	0	259	1	644	1	3
Scratch Total				742	673	770	2185									
Handicap				31	31	31	93									
Total				773	704	801	2278	773	1	704	0	801	1	2278	1	14

Point Won	14
Point Lost	6

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 4**

<u>TEAM HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>TEAM HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	2528	15 FIVE	2528	2	1	2453	REVIVAL TEAM	2267	3		
2	2422	4U2 BOWL	2422	2	2	2433	COOL STRIKE	2307	3		
3	2378	CONQUERORS	2429	3	3	2401	TEAM F&S	2224	4		
<u>TEAM HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>TEAM HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	897	15 FIVE	897	2	1	860	COOL STRIKE	818	3		
2	885	4U2 BOWL	885	4	2	857	REVIVAL TEAM	795	3		
3	851	ROLLING 99	851	1	3	846	TEAM F&S	787	4		
<u>MEN HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>MEN HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	727	BASIL - TEAM A3	727	3	1	698	JUMARI - ROMALEOS	680	3		
2	702	CHAI - ROLLING 99	702	1	2	687	AZMIL - REVIVAL TEAM	639	4		
3	697	IRFAN - ASSASSINS	742	4	3	684	AFFTAAL - CLASSIC BOWLERS	684	3		
<u>MEN HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>MEN HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	300	BASIL - TEAM A3	300	3	1	294	IRFAN - ASSASSINS	279	4		
2	280	RAYMOND SOH - 15 FIVE	280	2	2	274	JUMARI - ROMALEOS	268	3		
3	279	CHAI - ROLLING 99	279	1	3	265	AFFTAAL - CLASSIC BOWLERS	265	3		
<u>LADIES HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>LADIES HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	599	JAYANTHI - KNIGHTS	644	2	1	610	SHARON ANG - NOBODY RULES NOBODY	565	1		
2	580	ANNE - MISFITS STRIKERS	625	4	2	605	JOCELYN GOH - PRESTIGE	563	2		
3	572	JENNIFER - MISFITS STRIKERS	650	2	3	605	LEEN - ASSASSINS	545	3		
<u>LADIES HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>LADIES HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	243	JAYANTHI - KNIGHTS	258	2	1	229	JENNIFER - MISFITS STRIKERS	203	2		
2	233	JOCELYN GOH - PRESTIGE	248	1	2	223	SHARON ANG - NOBODY RULES NOBODY	208	1		
3	224	LEEN - ASSASSINS	239	2	3	223	ANNE - MISFITS STRIKERS	208	4		

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	TEAM A3 #1	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
1.1	WILFRYD	M	7		558		0	558	3	186
1.2	RAINEY	M	21	471	931	4	19	950	6	158
1.3	MAX	M	11		520		13	533	3	178
1.4	GABRIEL	M	8		554		0	554	3	185
1.5	FIKRI	M	23		354		110	464	3	155
1.6	DANIAL	M	16		486		16	502	3	167
1.7	SAIYID	M	14	421	991	36	36	1027	6	171
1.8	RAIMI	M	24		426		30	456	3	152
1.9	FARISH	M	13		520		0	520	3	173
1.10	ALEX	M	18		465		28	493	3	164
1.11	FAIQ	M	12		526		0	526	3	175
1.12	BASIL	M	0		727		0	727	3	242
1.13	DOMINIC	M	22	451	451	17	17	468	3	156
1.14	KELSON	M	21	451	451	22	22	473	3	158
1.15		M	#DIV/0!		0		0	0	0	#DIV/0!
1.16		F	#DIV/0!		0		0	0	0	#DIV/0!
1.17		F	#DIV/0!		0		0	0	0	#DIV/0!
1.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	COOL STRIKE #2	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
2.1	AJ	M	5	566	1712	0	0	1712	9	190
2.2	WAN	M	7		1116		0	1116	6	186
2.3	JEFFERY	M	7		1676		0	1676	9	186
2.4	RAZAK	M	16		980		32	1012	6	169
2.5	ZIL	M	13	569	1023	0	19	1042	6	174
2.6	HARON	M	12	503	1041	16	16	1057	6	176
2.7	FAITH	M	2		590		0	590	3	197
2.8	ESA	M	25	405	405	45	45	450	3	150
2.9		M	#DIV/0!		0		0	0	0	#DIV/0!
2.10		M	#DIV/0!		0		0	0	0	#DIV/0!
2.11		M	#DIV/0!		0		0	0	0	#DIV/0!
2.12		M	#DIV/0!		0		0	0	0	#DIV/0!
2.13		M	#DIV/0!		0		0	0	0	#DIV/0!
2.14		M	#DIV/0!		0		0	0	0	#DIV/0!
2.15		M	#DIV/0!		0		0	0	0	#DIV/0!
2.16		F	#DIV/0!		0		0	0	0	#DIV/0!
2.17		F	#DIV/0!		0		0	0	0	#DIV/0!
2.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ROMALEOS #3	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
3.1	FADZREEN	M	4	539	1156	0	0	1156	6	193
3.2	SUFFIAN	M	25		432		21	453	3	151
3.3	JUMARI	M	0		1242		0	1242	6	207
3.4	NORHAIZUL	M	9	460	1643	0	0	1643	9	183
3.5	MD HAZLIN	M	0		612		0	612	3	204
3.6	SHAM (CHIKO)	M	21		462		14	476	3	159
3.7	RIDDUAN	M	4	585	1127	20	20	1147	6	191
3.8	OBEK	M	14		517		0	517	3	172
3.9	AMAT	M	21		449		25	474	3	158
3.10	NUR ES	M	10		542		0	542	3	181
3.11	HALIM	M	0	621	621	0	0	621	3	207
3.12		M	#DIV/0!		0		0	0	0	#DIV/0!
3.13		M	#DIV/0!		0		0	0	0	#DIV/0!
3.14		M	#DIV/0!		0		0	0	0	#DIV/0!
3.15		M	#DIV/0!		0		0	0	0	#DIV/0!
3.16		F	#DIV/0!		0		0	0	0	#DIV/0!
3.17		F	#DIV/0!		0		0	0	0	#DIV/0!
3.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	NOBODY RULES NOBODY #4	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
4.1	LATIFF	M	11		535		0	535	3	178
4.2	RAVIN	M	0	602	1841	0	0	1841	9	205
4.3	DANIEL KU	M	20		457		26	483	3	161
4.4	DWAYNE KOO	M	0		636		0	636	3	212
4.5	ALFRED G	M	22	431	868	46	71	939	6	157
4.6	PRAKASH	M	11	532	532	0	0	532	3	177
4.7		M	#DIV/0!		0		0	0	0	#DIV/0!
4.8		M	#DIV/0!		0		0	0	0	#DIV/0!
4.9		M	#DIV/0!		0		0	0	0	#DIV/0!
4.10		M	#DIV/0!		0		0	0	0	#DIV/0!
4.11		M	#DIV/0!		0		0	0	0	#DIV/0!
4.12		M	#DIV/0!		0		0	0	0	#DIV/0!
4.13		M	#DIV/0!		0		0	0	0	#DIV/0!
4.14		M	#DIV/0!		0		0	0	0	#DIV/0!
4.15	ANNA LAW	F	29	492	929	0	7	936	6	156
4.16	NAISAH NESS	F	27		479		0	479	3	160
4.17	SHARON ANG	F	20		1011		7	1018	6	170
4.18	HAMIDAH	F	25		956		16	972	6	162

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	15 FIVE #5	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
5.1	JACKSON YEO	M	12		526		0	526	3	175
5.2	YONG KAI	M	7		1120		0	1120	6	187
5.3	HANIS	M	-10		577		0	577	3	192
5.4	IAN NG	M	0		1195		0	1195	6	199
5.5	JULIUS CHEONG	M	0	580	1245	0	0	1245	6	208
5.6	RAYMOND SOH	M	0	625	1291	0	0	1291	6	215
5.7	ZUHAILI	M	0		646		0	646	3	215
5.8	SOON MENG	M	0		608		0	608	3	203
5.9	BRANDON	M	0		634		0	634	3	211
5.10	BASIL	M	3	584	584	0	0	584	3	195
5.11	DANI AQIL	M	0	631	631	0	0	631	3	210
5.12		M	#DIV/0!		0		0	0	0	#DIV/0!
5.13		M	#DIV/0!		0		0	0	0	#DIV/0!
5.14		M	#DIV/0!		0		0	0	0	#DIV/0!
5.15		M	#DIV/0!		0		0	0	0	#DIV/0!
5.16		F	#DIV/0!		0		0	0	0	#DIV/0!
5.17		F	#DIV/0!		0		0	0	0	#DIV/0!
5.18	JESSICA ONG	F	16		528		0	528	3	176

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	REVIVAL TEAM #6	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
6.1	ELFE	M	8		1099		5	1104	6	184
6.2	AZMIL	M	10	639	2157	0	1	2158	12	180
6.3	MAMES	M	18	531	946	0	35	981	6	164
6.4	SANI	M	11	543	2130	0	3	2133	12	178
6.5	RIDUWAN	M	10	486	1061	22	22	1083	6	181
6.6	ZARRY	M	9		1089		0	1089	6	182
6.7		M	#DIV/0!		0		0	0	0	#DIV/0!
6.8		M	#DIV/0!		0		0	0	0	#DIV/0!
6.9		M	#DIV/0!		0		0	0	0	#DIV/0!
6.10		M	#DIV/0!		0		0	0	0	#DIV/0!
6.11		M	#DIV/0!		0		0	0	0	#DIV/0!
6.12		M	#DIV/0!		0		0	0	0	#DIV/0!
6.13		M	#DIV/0!		0		0	0	0	#DIV/0!
6.14		M	#DIV/0!		0		0	0	0	#DIV/0!
6.15		M	#DIV/0!		0		0	0	0	#DIV/0!
6.16		F	#DIV/0!		0		0	0	0	#DIV/0!
6.17		F	#DIV/0!		0		0	0	0	#DIV/0!
6.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ASSASSINS #7	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
7.1	ZUL	M	17		978		20	998	6	166
7.2	HADI	M	9		530		16	546	3	182
7.3	HANAPEPE	M	2		552		35	587	3	196
7.4	JIBBS	M	22		466		1	467	3	156
7.5	AMAT	M	17		997		5	1002	6	167
7.6	BAKAR	M	19	491	943	10	35	978	6	163
7.7	AIDIE	M	23		448		13	461	3	154
7.8	IRFAN	M	0	697	1210	0	0	1210	6	202
7.9	IAN	M	14	519	519	0	0	519	3	173
7.10	AMY	M	11	520	520	13	13	533	3	178
7.11		M	#DIV/0!		0		0	0	0	#DIV/0!
7.12		M	#DIV/0!		0		0	0	0	#DIV/0!
7.13		M	#DIV/0!		0		0	0	0	#DIV/0!
7.14		M	#DIV/0!		0		0	0	0	#DIV/0!
7.15		M	#DIV/0!		0		0	0	0	#DIV/0!
7.16	LEEN	F	16		1046		11	1057	6	176
7.17		F	#DIV/0!		0		0	0	0	#DIV/0!
7.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	E'CLIPSE #8	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
8.1	RASHIDI	M	25		369		83	452	3	151
8.2	YATIM	M	12		1058		0	1058	6	176
8.3	MCKEAN	M	12	548	1573	0	19	1592	9	177
8.4	IZZAN	M	15	466	998	25	25	1023	6	171
8.5	MAT NOOR	M	10		1074		7	1081	6	180
8.6	ASHYRAEI	M	0		1266		0	1266	6	211
8.7	GHANI	M	24	423	423	35	35	458	3	153
8.8		M	#DIV/0!		0		0	0	0	#DIV/0!
8.9		M	#DIV/0!		0		0	0	0	#DIV/0!
8.10		M	#DIV/0!		0		0	0	0	#DIV/0!
8.11		M	#DIV/0!		0		0	0	0	#DIV/0!
8.12		M	#DIV/0!		0		0	0	0	#DIV/0!
8.13		M	#DIV/0!		0		0	0	0	#DIV/0!
8.14		M	#DIV/0!		0		0	0	0	#DIV/0!
8.15		M	#DIV/0!		0		0	0	0	#DIV/0!
8.16	AZIZAH	F	35	442	442	0	0	442	3	147
8.17	NINA	F	21		505		0	505	3	168
8.18	NATASHA	F	32		451		4	455	3	152

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	PRESTIGE #9	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
9.1	ALEX LIEW	M	15		511		0	511	3	170
9.2	ERIC TAN	M	4		1134		14	1148	6	191
9.3	BAN LEE	M	8		1105		0	1105	6	184
9.4	JASON NG	M	4	610	1138	0	17	1155	6	193
9.5	NICK LIM	M	3		581		0	581	3	194
9.6	ADAM	M	9		535		12	547	3	182
9.7	RAYMOND TOH	M	16		505		0	505	3	168
9.8	MERVIN	M	14		513		5	518	3	173
9.9	DESMOND LEE	M	25	405	405	48	48	453	3	151
9.10		M	#DIV/0!		0		0	0	0	#DIV/0!
9.11		M	#DIV/0!		0		0	0	0	#DIV/0!
9.12		M	#DIV/0!		0		0	0	0	#DIV/0!
9.13		M	#DIV/0!		0		0	0	0	#DIV/0!
9.14		M	#DIV/0!		0		0	0	0	#DIV/0!
9.15		M	#DIV/0!		0		0	0	0	#DIV/0!
9.16		F	#DIV/0!		0		0	0	0	#DIV/0!
9.17	MEI POH	F	25	487	487	0	0	487	3	162
9.18	JOCELYN GOH	F	13	525	1622	0	2	1624	9	180

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	4U2 BOWL #10	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
10.1	YUSOFF BAI	M	13		519		5	524	3	175
10.2	OSMAN	M	6		553		13	566	3	189
10.3	HARIF A	M	0		1243		0	1243	6	207
10.4	RAHIM LION	M	0		616		0	616	3	205
10.5	HAIRON	M	0	621	1300	0	0	1300	6	217
10.6	HAIRUL	M	14		515		1	516	3	172
10.7	BRYANT	M	0		612		0	612	3	204
10.8	HISAM	M	10		542		0	542	3	181
10.9	ERWAN	M	7		556		0	556	3	185
10.10	HEISYAM	M	2		590		0	590	3	197
10.11	ANIQ	M	0	618	618	0	0	618	3	206
10.12	MOHD IMRAN	M	4	577	577	0	0	577	3	192
10.13	HAFIZH	M	1	592	592	0	0	592	3	197
10.14		M	#DIV/0!		0		0	0	0	#DIV/0!
10.15		M	#DIV/0!		0		0	0	0	#DIV/0!
10.16		F	#DIV/0!		0		0	0	0	#DIV/0!
10.17		F	#DIV/0!		0		0	0	0	#DIV/0!
10.18	IFQAH	F	21		504		0	504	3	168

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	STORM RIDERS #11	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
11.1	JAS	M	18		961		29	990	6	165
11.2	JACKY	M	10		1615		0	1615	9	179
11.3	KIKI	M	7	548	2228	0	0	2228	12	186
11.4	HAS	M	19	502	939	6	34	973	6	162
11.5	RALPH	M	14		517		0	517	3	172
11.6	AHA	M	16		507		0	507	3	169
11.7	KC	M	19	468	468	16	16	484	3	161
11.8	KELVIN	M	12	519	519	7	7	526	3	175
11.9		M	#DIV/0!		0		0	0	0	#DIV/0!
11.10		M	#DIV/0!		0		0	0	0	#DIV/0!
11.11		M	#DIV/0!		0		0	0	0	#DIV/0!
11.12		M	#DIV/0!		0		0	0	0	#DIV/0!
11.13		M	#DIV/0!		0		0	0	0	#DIV/0!
11.14		M	#DIV/0!		0		0	0	0	#DIV/0!
11.15		M	#DIV/0!		0		0	0	0	#DIV/0!
11.16		F	#DIV/0!		0		0	0	0	#DIV/0!
11.17		F	#DIV/0!		0		0	0	0	#DIV/0!
11.18	OMG	F	33		452		0	452	3	151

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	KNIGHTS #12	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
12.1	RAVIKUMAR	M	15	524	1015	0	2	1017	6	170
12.2	VIJAYACHELVAN	M	16	509	992	7	17	1009	6	168
12.3	A THENESKUMAR	M	10		541		0	541	3	180
12.4	HANESH	M	25		365		85	450	3	150
12.5	SELVAKUMARAN	M	9	477	1064	28	28	1092	6	182
12.6	SATHIAMOORTHY	M	0		637		0	637	3	212
12.7	ANDY	M	17		499		0	499	3	166
12.8	KANA	M	22		460		9	469	3	156
12.9	MANSOOR	M	21		447		25	472	3	157
12.10	TULASI	M	7		558		0	558	3	186
12.11	ABDULLAH	M	0	601	601	0	0	601	3	200
12.12		M	#DIV/0!		0		0	0	0	#DIV/0!
12.13		M	#DIV/0!		0		0	0	0	#DIV/0!
12.14		M	#DIV/0!		0		0	0	0	#DIV/0!
12.15		M	#DIV/0!		0		0	0	0	#DIV/0!
12.16		F	#DIV/0!		0		0	0	0	#DIV/0!
12.17	JAYANTHI	F	0		599		0	599	3	200
12.18	LALITHAL	F	35		433		0	433	3	144

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	BLACK KNIGHT #13	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
13.1	SAM	M	3		1141		18	1159	6	193
13.2	HARRY KHOO	M	12	539	1582	0	0	1582	9	176
13.3	STANLEY TAN	M	6	592	1688	0	0	1688	9	188
13.4	ALEX WONG	M	11		1603		0	1603	9	178
13.5	RAYMOND GOH	M	0	615	1806	0	0	1806	9	201
13.6	BERNARD SEE	M	8	551	551	0	0	551	3	184
13.7		M	#DIV/0!		0		0	0	0	#DIV/0!
13.8		M	#DIV/0!		0		0	0	0	#DIV/0!
13.9		M	#DIV/0!		0		0	0	0	#DIV/0!
13.10		M	#DIV/0!		0		0	0	0	#DIV/0!
13.11		M	#DIV/0!		0		0	0	0	#DIV/0!
13.12		M	#DIV/0!		0		0	0	0	#DIV/0!
13.13		M	#DIV/0!		0		0	0	0	#DIV/0!
13.14		M	#DIV/0!		0		0	0	0	#DIV/0!
13.15		M	#DIV/0!		0		0	0	0	#DIV/0!
13.16	LYA	F	35		414		16	430	3	143
13.17		F	#DIV/0!		0		0	0	0	#DIV/0!
13.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	TEAM F&S #14	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
14.1	ZACK	M	25		423		27	450	3	150
14.2	TAHIR	M	8	601	1105	0	2	1107	6	185
14.3	CHANDRAN	M	0	648	1231	0	0	1231	6	205
14.4	OSMAN TIK	M	6	543	1680	2	11	1691	9	188
14.5	MOHD YUSOFF (MYUS)	M	2		1177		0	1177	6	196
14.6	WAI QUAN	M	1		594		0	594	3	198
14.7	MD NIZAM	M	0		601		0	601	3	200
14.8		M	#DIV/0!		0		0	0	0	#DIV/0!
14.9		M	#DIV/0!		0		0	0	0	#DIV/0!
14.10		M	#DIV/0!		0		0	0	0	#DIV/0!
14.11		M	#DIV/0!		0		0	0	0	#DIV/0!
14.12		M	#DIV/0!		0		0	0	0	#DIV/0!
14.13		M	#DIV/0!		0		0	0	0	#DIV/0!
14.14		M	#DIV/0!		0		0	0	0	#DIV/0!
14.15		M	#DIV/0!		0		0	0	0	#DIV/0!
14.16	AURORA	F	24		492		0	492	3	164
14.17	NURUL	F	35	432	857	0	9	866	6	144
14.18	SARAH	F	15		534		0	534	3	178

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	REVOLUTION #15	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
15.1	AZMI	M	16		1472		40	1512	9	168
15.2	RAY SOH	M	9		1093		0	1093	6	182
15.3	HAOWEI	M	15		489		19	508	3	169
15.4	HAFIZ	M	6	604	1682	0	2	1684	9	187
15.5	MJ	M	11	486	1069	0	0	1069	6	178
15.6	SOH WEE SENG	M	18	447	941	42	42	983	6	164
15.7	SEBASTIAN OH	M	20		468		10	478	3	159
15.8	SEBESTIAN TAN	M	8		551		0	551	3	184
15.9	ELSEN	M	24	387	387	70	70	457	3	152
15.10		M	#DIV/0!		0		0	0	0	#DIV/0!
15.11		M	#DIV/0!		0		0	0	0	#DIV/0!
15.12		M	#DIV/0!		0		0	0	0	#DIV/0!
15.13		M	#DIV/0!		0		0	0	0	#DIV/0!
15.14		M	#DIV/0!		0		0	0	0	#DIV/0!
15.15		M	#DIV/0!		0		0	0	0	#DIV/0!
15.16		F	#DIV/0!		0		0	0	0	#DIV/0!
15.17		F	#DIV/0!		0		0	0	0	#DIV/0!
15.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	MISFITS STRIKERS #16	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
16.1	ROHEZAN	M	4	509	2276	17	17	2293	12	191
16.2	LAWRENCE	M	0		619		0	619	3	206
16.3	XANDREI	M	8		1093		10	1103	6	184
16.4	SARIFF	M	10		539		0	539	3	180
16.5	JAMARI	M	9		545		0	545	3	182
16.6	DEDI HARYADI	M	17		492		4	496	3	165
16.7	SURADI	M	19	469	469	19	19	488	3	163
16.8		M	#DIV/0!		0		0	0	0	#DIV/0!
16.9		M	#DIV/0!		0		0	0	0	#DIV/0!
16.10		M	#DIV/0!		0		0	0	0	#DIV/0!
16.11		M	#DIV/0!		0		0	0	0	#DIV/0!
16.12		M	#DIV/0!		0		0	0	0	#DIV/0!
16.13		M	#DIV/0!		0		0	0	0	#DIV/0!
16.14		M	#DIV/0!		0		0	0	0	#DIV/0!
16.15		M	#DIV/0!		0		0	0	0	#DIV/0!
16.16	ANNE	F	4	580	580	0	0	580	3	193
16.17	MASTURA	F	33		438		15	453	3	151
16.18	JENNIFER	F	18	502	1557	0	0	1557	9	173

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ALL FOR ONE #17	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
17.1	SANI	M	10		540		0	540	3	180
17.2	IBRAHIM	M	14		1036		0	1036	6	173
17.3	MUHAMMAD	M	15		491		19	510	3	170
17.4	FAIZAL	M	22		470		0	470	3	157
17.5	ATMARI	M	17		493		6	499	3	166
17.6	NABIL	M	14		480		38	518	3	173
17.7	WILL	M	20		433		46	479	3	160
17.8	AHMAD	M	25		402		49	451	3	150
17.9	AZMI	M	24		420		34	454	3	151
17.10		M	#DIV/0!		0		0	0	0	#DIV/0!
17.11		M	#DIV/0!		0		0	0	0	#DIV/0!
17.12		M	#DIV/0!		0		0	0	0	#DIV/0!
17.13		M	#DIV/0!		0		0	0	0	#DIV/0!
17.14		M	#DIV/0!		0		0	0	0	#DIV/0!
17.15		M	#DIV/0!		0		0	0	0	#DIV/0!
17.16		F	#DIV/0!		0		0	0	0	#DIV/0!
17.17	MURNI	F	14		538		0	538	3	179
17.18	NFO	F	35		411		25	436	3	145

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	CONQUERORS #18	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
18.1	PETER	M	14	507	1017	16	16	1033	6	172
18.2	DANIEL	M	9		1055		37	1092	6	182
18.3	RYAN	M	13		1546		25	1571	9	175
18.4	ALVIN SEOW	M	0	640	2396	0	1	2397	12	200
18.5	IVAN	M	9		544		0	544	3	181
18.6	ZULKIFLI	M	0		638		0	638	3	213
18.7	KEN	M	4		577		0	577	3	192
18.8	ALVIN HO	M	15	499	499	12	12	511	3	170
18.9		M	#DIV/0!		0		0	0	0	#DIV/0!
18.10		M	#DIV/0!		0		0	0	0	#DIV/0!
18.11		M	#DIV/0!		0		0	0	0	#DIV/0!
18.12		M	#DIV/0!		0		0	0	0	#DIV/0!
18.13		M	#DIV/0!		0		0	0	0	#DIV/0!
18.14		M	#DIV/0!		0		0	0	0	#DIV/0!
18.15		M	#DIV/0!		0		0	0	0	#DIV/0!
18.16	LORRAINE	F	15	533	533	0	0	533	3	178
18.17		F	#DIV/0!		0		0	0	0	#DIV/0!
18.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ROLLING 99 #19	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
19.1	KK LEE	M	20	465	937	19	19	956	6	159
19.2	JASON HON	M	14	477	1017	10	10	1027	6	171
19.3	CHAI	M	0		702		0	702	3	234
19.4	RICK TAN	M	1		595		0	595	3	198
19.5	ALVIN LOH	M	23		438		24	462	3	154
19.6	SAM	M	15		504		8	512	3	171
19.7	MARCUS CHEW	M	18		462		33	495	3	165
19.8	ANUAR	M	0		608		0	608	3	203
19.9	GABRIEL GOH	M	7	559	559	0	0	559	3	186
19.10	EFFENDY	M	20	467	467	12	12	479	3	160
19.11		M	#DIV/0!		0		0	0	0	#DIV/0!
19.12		M	#DIV/0!		0		0	0	0	#DIV/0!
19.13		M	#DIV/0!		0		0	0	0	#DIV/0!
19.14		M	#DIV/0!		0		0	0	0	#DIV/0!
19.15		M	#DIV/0!		0		0	0	0	#DIV/0!
19.16		F	#DIV/0!		0		0	0	0	#DIV/0!
19.17		F	#DIV/0!		0		0	0	0	#DIV/0!
19.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	C.C.R.T #20	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
20.1	ANAQY	M	22		469		1	470	3	157
20.2	MUHAMMAD	M	19	464	955	16	16	971	6	162
20.3	HASHIM	M	6	583	1694	0	3	1697	9	189
20.4	SHAFIE	M	0	612	2484	0	0	2484	12	207
20.5	ISA	M	7	586	1672	0	3	1675	9	186
20.6	RID	M	22		418		51	469	3	156
20.7	SYAHRIL	M	11		1065		0	1065	6	178
20.8		M	#DIV/0!		0		0	0	0	#DIV/0!
20.9		M	#DIV/0!		0		0	0	0	#DIV/0!
20.10		M	#DIV/0!		0		0	0	0	#DIV/0!
20.11		M	#DIV/0!		0		0	0	0	#DIV/0!
20.12		M	#DIV/0!		0		0	0	0	#DIV/0!
20.13		M	#DIV/0!		0		0	0	0	#DIV/0!
20.14		M	#DIV/0!		0		0	0	0	#DIV/0!
20.15		M	#DIV/0!		0		0	0	0	#DIV/0!
20.16		F	#DIV/0!		0		0	0	0	#DIV/0!
20.17		F	#DIV/0!		0		0	0	0	#DIV/0!
20.18		F	#DIV/0!		0		0	0	0	#DIV/0!

**15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP**

Bowler I/D	CLASSIC BOWLER #21	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
21.1	AARON	M	21		868		77	945	6	158
21.2	DESMOND	M	18		493		0	493	3	164
21.3	KENNY	M	10		539		0	539	3	180
21.4	GOH YU XUAN	M	3		585		0	585	3	195
21.5	AFFTAAL	M	0	668	1352	0	0	1352	6	225
21.6	KIAN LEONG	M	22		437		33	470	3	157
21.7	NICHOLAS	M	0		625		0	625	3	208
21.8	HUZAINI	M	17	455	455	42	42	497	3	166
21.9	REMY	M	15	509	509	0	0	509	3	170
21.10		M	#DIV/0!		0		0	0	0	#DIV/0!
21.11		M	#DIV/0!		0		0	0	0	#DIV/0!
21.12		M	#DIV/0!		0		0	0	0	#DIV/0!
21.13		M	#DIV/0!		0		0	0	0	#DIV/0!
21.14		M	#DIV/0!		0		0	0	0	#DIV/0!
21.15		M	#DIV/0!		0		0	0	0	#DIV/0!
21.16	IZZAH	F	18	520	520	0	0	520	3	173
21.17		F	#DIV/0!		0		0	0	0	#DIV/0!
21.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	B.I.B #22	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
22.1	RAFA	M	15		946		73	1019	6	170
22.2	ANDI	M	16		507		0	507	3	169
22.3	CRIS	M	6	605	1127	0	0	1127	6	188
22.4	NORISHAM S7	M	16		994		12	1006	6	168
22.5	ROSZ	M	20		478		0	478	3	159
22.5	MUN	M	10		1081		0	1081	6	180
22.7	SHI HONG	M	21	435	896	25	56	952	6	159
22.8	NIZAM	M	5		571		0	571	3	190
22.9	SUFI TRESNO	M	0	598	598	0	0	598	3	199
22.10	SUTRESNOH	M	7	547	547	9	9	556	3	185
22.11		M	#DIV/0!		0		0	0	0	#DIV/0!
22.12		M	#DIV/0!		0		0	0	0	#DIV/0!
22.13		M	#DIV/0!		0		0	0	0	#DIV/0!
22.14		M	#DIV/0!		0		0	0	0	#DIV/0!
22.15		M	#DIV/0!		0		0	0	0	#DIV/0!
22.16	DIYAA	F	29		469		0	469	3	156
22.17		F	#DIV/0!		0		0	0	0	#DIV/0!
22.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	X-FREEDOM #23	Sex	NEW HCP	WEEK 4	Overall Scratch Total	WEEK 4	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
23.1	ARISTO	M	15		502		9	511	3	170
23.2	AIEM	M	22	487	914	2	26	940	6	157
23.3	FIAN	M	15	570	974	0	52	1026	6	171
23.4	SYAZWAN	M	14		510		7	517	3	172
23.5	KHAI	M	16		506		0	506	3	169
23.6	DHAN	M	4		577		0	577	3	192
23.7	AAN	M	9		546		0	546	3	182
23.8	FAIZ	M	22	432	917	23	25	942	6	157
23.9	FAHIM	M	17	500	500	0	0	500	3	167
23.10		M	#DIV/0!		0		0	0	0	#DIV/0!
23.11		M	#DIV/0!		0		0	0	0	#DIV/0!
23.12		M	#DIV/0!		0		0	0	0	#DIV/0!
23.13		M	#DIV/0!		0		0	0	0	#DIV/0!
23.14		M	#DIV/0!		0		0	0	0	#DIV/0!
23.15		M	#DIV/0!		0		0	0	0	#DIV/0!
23.16		F	#DIV/0!		0		0	0	0	#DIV/0!
23.17		F	#DIV/0!		0		0	0	0	#DIV/0!
23.18		F	#DIV/0!		0		0	0	0	#DIV/0!

WALKOVER DEPOSIT & REGISTRATION FEE PAYMENT RECORD

Team	TEAM NAME	WALKOVER DEPOSIT	PAYMENT DATE	TROPHY FUND	PAYMENT DATE
1	TEAM A ³	\$140.00	24/Dec/25	\$250.00	24/Dec/25
2	COOL STRIKE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
3	ROMALEOS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
4	NOBODY RULES NOBODY	\$140.00	6/Jan/26	\$250.00	6/Jan/26
5	15 FIVE	\$140.00	19/Dec/25	\$250.00	19/Dec/25
6	REVIVAL TEAM	\$140.00	18/Dec/25	\$250.00	18/Dec/25
7	ASSASSINS	\$140.00	2/Jan/26	\$250.00	2/Jan/26
8	E'CLIPSE	\$140.00	18/Dec/25	\$250.00	18/Dec/25
9	PRESTIGE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
10	4U2 BOWL	\$140.00	18/Dec/25	\$250.00	18/Dec/25
11	STORM RIDERS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
12	KNIGHTS	\$140.00	22/Dec/25	\$250.00	22/Dec/25
13	BLACK KNIGHT	\$140.00	29/Dec/25	\$250.00	29/Dec/25
14	TEAM F&S	\$140.00	19/Dec/25	\$250.00	19/Dec/25
15	REVOLUTION	\$140.00	19/Dec/25	\$250.00	19/Dec/25
16	MISFITS STRIKERS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
17	ALL FOR ONE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
18	CONQUERORS	\$140.00	6/Jan/26	\$250.00	6/Jan/26
19	ROLLIN 99	\$140.00	18/Dec/25	\$250.00	18/Dec/25
20	C.C.R.T	\$140.00	20/Jan/26	\$250.00	20/Jan/26
21	CLASSIC BOWLERS	\$140.00	18/Dec/25	\$250.00	18/Dec/25
22	B.I.B	\$140.00	6/Jan/26	\$250.00	6/Jan/26
23	X-FREEDOM	\$140.00	13/Jan/26	\$250.00	13/Jan/26